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Candidates are required to give their answers in their

own words as far as practicable.

Hlustrate the answers wherever necessary.

1. Answelf' any six questions : 6%x2

(a) Write the full form of r-DNA and t-RNA.

(b} What is plasmid ? Give one example of plasmid vector. |
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{c} Give the differences between mass selection and

clonal selection.
(d} What is synthetic seed ?
(e} What is callus ? Mention redifferentiation.
(i Name two active constituents of Rauvolfia.
(g} How a hybrid taxon is indicated ?
(h) Name 2 systemic fungicides.
{1} Define air layering. Why is it important ?

()} Name 2 threatened plants of India.

2. Answer any five questions : 5%x5

(a) What does it mean by lac operon ? Draw and describe
‘lac operon’ in brief. : 1+4

(b) What is plant introduction ? Give an idea about
hybridization of indigenous crop in India. 1+4

(c) What is incomplete dominance ? Fxplain it with the
help of example as per the ratio of genetic and

phenetic one. 1+4

(d) Define heterosis ? Give the hypotheses on heterosis

with example. 1+4
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(e) Pescribe the cultivation and marketing of tuberose in

West Bengal. 3+2

i Lescribe in brief the process of cultivation of Rauvolfia

serpentine. 5

(g) What is biofertilizer ? Name 2 phosphate solubilizers

and one symbiotic N,-fixer. 2+3

(h) What are a-and B-diversity ? Name 2 ex-situ
conservation techniques employed in India. Name

one Indian hot-spot. 2+2+1

3. Answer any fwo questions : ' 2x15°

(a) !What is semiconservative replication of DNA ? Define
‘recombinant DNA. Briefly describe the process
employed to develop transgenic plants. Mention two

applications of transgenic plants. What is Ti-plasmid ?
2+2+8+2+1

(b} [Write short notes on : 3x5
(i} Somatic embroyogenesis ;
(i) Economic uses of ornamentals plants ; and
(iii) Integrated pest management (IPM).
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(c) Define preventive and therapeutic measures. Give
the therapeutic—physicéi measures employed to
protect plant in modern day nursery. Define biological
control of pest. Give one agent used as biological kind.

2+2+8+2+1

{d) Define the term bio-fertilizer. Differentiate it from
chemical fertilizer. Why bio-fertilizers are most
effective against chemical fertilizers. Name 2
bacterial biofertilizer. Mention the advantéges and

disadvantages of biofertlizer. 2+3+3+2+5
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| [Instructions to the Examiners ]

1. Fresfxly prepared curd {specimen A} should be supplied to

each student.

2. For Q. No. 2, (specimen B} determine the ‘goodness of fit

¥

by éhi-square method is to be followed for the normal
monphybrid ratio (viz. 3:1 and 1:1). Total nos. of seed

shoxllld' exceed 40.
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3. ForQ. No. 3,a mix‘ture of viéble and non-viable presoaked
Gram / pea seeds / Ground nut may be used.

4. For Q. No. 6, Viva-Voce — at least four questions may be
asked mainly from practical syllabus.
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